PV2R12

®
et = mEF o= g 3
D rurnan VRIS wmm R KN

O RRINEMSERE RER » (B EE HEIRM
et BE-ROKE > MEeE®H - AERE - S
R ERRSEBEE NS A -

®Double High Pressure Vane Pumps aims at the

OuUT |OUT

dual hydraulic circuits. The mono-inlet offers the oil
filling can make the piping simple, which fits various

hydraulics machines due to low noise high efficiency.

QAR IEX T/ MODEL NUMBER DESIGNATON

PV2R12—12-53— L—R

L B&sE (BaEEe)
{ R:BET D0
SBAIT L35EFET 0
L: el EEAY
FoApaa
ItHE PV2R12 —12-53 —L R
YRS |
Direction of Revolving
Assemble model (Side View of Self
L: Foot Type Aligning Bearing)
F: Flange Type R: Clock wise Direction
L: Counter-clockwise
Delivery Direction
Serial  capacity
Number
O EHFHMEExX /SPECIFICATION
CEEN | .
n | e | kgl | REEE RERY £=
| eiEll | ASBHAL | operaTiNG | T 0 PORTS SIZE WEIIGHT (kg)
A | tESEE | HESHE | PRESS P-
RN SMALL | LARGE
MODEL | VOLUME | VOLUME | B B0 | B0 | g | emm
cclrev ccrev | &8 | BB | &E &S| AD | oy | 0 Hlﬁ:uo%flf F’%fﬁaz
MAX |RATED| MIN [MAX| IN | out | out | TooT |TX0R2
(SMALL) | (LARGE)
22.26.38
PV2R12| ggqo |33.41.47.53 2 | 12 | 34 | 297 | 25
12.14.17 | 59.65.*75
19.23.25
* 60.66.76
PV2RI3| 01 |ga i rras| A | e 1950 (1500 3 | 12 | 114 | 556 | 456
222638 | 50 6 76
PV2R23 |33.41.47.53|94.116.%125 3 | 34 | 114 | 61 54
59.65.*75




D rurNnaN

$PV2R13,PV2R23
PV2R13 PV2R23

ONERTYE /DIMENSIONS(IN MILIMITEERS)

A& Y
PV2R12 s£E5% FLANGE TYPE IR FOOT TYPE
22 4-314387,
129 80 9 GaoxarEa, O

16 9 I —

NBREREO RAO KBEHHO
OouTZ15 OUT@SS\ OUT®21\ J_

F/ : }QX%W% - ‘i ’ o= n"h”\I/r‘r.
j@ , g_\ﬁwél\ew@ \ o | o 2t =

6.35 1003
B

71.8

J

HER~TFELEABEAE Other size refering flange type

42.9 22.2

4-M12x1.75Px19;F 4-M10x1.5Px17 ;%
" * NEEHHED A8
OUT@15 \C N

4-M8x1.25Px14 %

- ( |
Lo
\VY.

145
o125

2101.6 -0.05

75
=
D
loY'd
(I _@\
g
]
2254905
28.18/" 15
=

(1J

(2213587, |
1 VFERIRT HEE




. ®DARE /DISASSEMBLY FIG

¢ =Z/t5X /PARTS LIST

PV2R12
BB NE 2 hEs IEIS NE = b
tem Description Q'ty| Remarks |ltem Description Q'ty Remarks
1 A 1 19 | gIENRERFront | 1
Pump body =707
2 SHE/0Il seal 1 | 30x42%x8 | 20 VEmIE/Cam ring 1
| ENB
3 Ih)\&/Shaft 1 21 Locking pin 2 @6.0x 36
4 éfj5/Bearings 1 6205 22 #E</Rotor 1
5 103=/Retainer ring 1 R52 23 = /Vane 12
6 5 /Keyway 1 6.35X30 | 24 | BB ECHR/Black 1
7 VETIRIR
7 0O #3IR/0 ring 1 P46 25 Countersink 2 M4 x 0.7 x40
hex-screw
8 O #IR/0 ring 1 G85 26 O #Y%/0 ring 1 G30
BIAE =
9 Front port block 1 27 O #4%/0 ring 1 G60
10 CYéRIB/Cam ring 1 28 | f&=/Rear cover 1
s VAN==DANTEL S o)
11 Loéi{i#m in 2 @6.0x45 | 29 Countersink 4 M10%x1.5x50
gp hex-screw
VAN==DAITELE S o)
12 =< /Rotor 1 30 Countersink 4 M12%1.75%130
hex-screw
13 EF /Vane 12 31 O #I%/0 ring 1 G40
BOME -
14 Rear port block 1 32 O R/Flange !
TN BB IR .
15 Countersink hex-screw 2 |M5x0.8x60| 33 O #Y%/0 ring 1 G65
16 O AIE/0 ring 1 G105 34 | AOAES/Flange 1
PRARS AIZ/O ri
17 |Middle pamp housing ' % O ZF/O ring ! P22
18 0 #B/0 ring 1 G80 36 | ADOZEEIFlange 1




FURNAN

O NER B /DIMENSIONS(IN MILIMITERS)

PV2R13

7ABA FLANGE TYPE

iR FOOT TYPE

4-017 587,
D26x1RBIRIL

)l

30.2)

21 9 _
— —-— |
NBEHEO BAOD ABEHEO £ i 4
OUTZ15] IND78 \ OUT@30 \ Fﬁ/ﬁ ]J
g o~
L e e 3 o
. ~ oo
5l < ~| . . _\ e
o g ] IS “f R i e
\é § § s I
. 2] 40 | 76.2 | 88 | 235 |
/ 131 | 50 274

HER~TH#ES2EAEA Other size refering flange type

17.5 / 61.9
/ 4-M16x2.5Px197%
4.

4-M10x1.5Px197%

-M8x1.25Px14 %

370
120.5 115.5 112
75| .
63 |oo| 9
T og
s
N ooy
= ®
™| v
@ @

95

58
]

183

puEE

]
|
2127 D05
90

31

F N
-/

2-017 584,
@26x1RBAIRA

PV2R23

NEEHHA

BAO ABREMH

DA—I—T*
ouUTZ21 IN®78\ OUT@SO\

7AEA FLANGE TYPE

21 9

MERRTHESEPV2R13
foot type size refering PV2R13 type

MBSO o

ouT@21 w:

g
S, 5
=fe | © Y 4-M10x1.5Px17 %
< e ~
= \
g Mo f
) ° |40 |
61.9 0.2
4-M16x2.5Px197% 4-M10x1.5Px197%
ERE
403
139.5 115.5 112 ®
75 “
213
63 _|od 9
ﬁ_o.o. 181
é S\

]
|
| 35.32
2127 .05
90

183

'
-/
®
(1166
P3|

3
N

T

@26x1FRIRAL







